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Note : "There are two sections in this paper. Section - A is
complusory. Answer any three questions from
Section - B

- SECTION - A
1.  Following are the multiple choice questions. Each
question is having four choices, out of which only
. one choice is correct. Find the correct choice.10x2=20

(@) Information helps in knowledge generation
in:
(i)  Scientific Applications
(i) Business Applications
(iii) Social Services‘
(iv) Al of these
(b) PPP stands for:
(i) Point to Point Protocol
(i) People to People Protocol
(iii) Public and Private Protocol

(iv) None of these
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(d)

(8)
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FTP stands for :

(i)  File Tracking Problem

(i)  File Transfer Protocol

(iif) Financial Transaction Processing
(iv) All of these

LAN stands for :

(i) Linear Area Network

(ii) Large Area Network

(iii) Local Area Network

(iv) Legal Area Network

Following symbol(s) is/are used in Data
Dictionary :

M =

i []

(ii) Both =and [ ]

(iv) Niether = nor | ]

OOP stands for :

(i)  Object Oriented Programming

(i) Open Object Programming

(iii) Organised Object Programming

(iv) None of the these

NP complete problems are concerned with
problems whose complexity may be
described by :

(i)  Exponential functions

(i) Linear functions

(iii) Quardratic function

(iv) None of these



()

E - mail can be used to send :

(i) text

(iiy picture

(iii) both text and picture

(iv) none of these

HTML stands for :

(i) Hyper Text Markup Language
(ii) Highly Text Managed Language
(iii) High Time Machine Language
(iv) None of the these

Telnet is used for :

(i) remote login

(ii) Pc security

(i) -Network Management

(

iv) none of these.

2. What is DFD ? Explain different symbols usedin 10
construction of DFD.

3. (a)
(b)
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What is Internet ? List two advantages of 6
Internet. Explain how things are found on

internet ?

What is NP - complete problem ? Giveone 4

example of NP - complete problem.
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(b)
5. (a)
(b)
6 (a)
(b)

SECTION - B

Explain tools and services available on
Internet.

What is time complexity of a program ?
Explain with example, how time
complexity of a program is calculated ?

State and explain twelve coins problem.

What is data dictionary ? Explain any
three types of data dictionary.

What is file server system ? Explain file
server system with the help of suitable
diagram.

What is software reusability ? Explain
advantages of software reusability.

7.  Write short note on the following :

(@)
(b)
(©)
(d)
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Future of IT
Client - Server System
Web Browser

Data and Information.
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10

10
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(b) PPPEHI LT :

(i) Point to Point Protocol
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(iv) T RE T
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(d)

(e)
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FTP &1 319 ¥ :

(i)  File Tracking Problem

(i) File Transfer Protocol

(iii) -Financial Transaction Processing
(v) T |t

LAN &1 318 ® :

(i) Linear Area Network

(il Large Area Network

(iii) Local Area Network
(iv) Legal Area Network
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® =

@ []

i) =3[ | I

(iv) Fd=3RIR[ ]

OOP H1 14 B :

(i) Object Oriented Programming

(i) Open Object Programming

(iii) Organised Object Programming

(iv) T B T
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